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QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Tafiea oy # Gy or foeut & @ uw R
(?) & TUEF W A ael FET F AT

5 3 7
l4]22]6| [2]20]7] [6]2]9]
7 8 8
Options:
1) 30
2) 32
3)31
4)29

Correct Answer: 30
Candidate Answer: 30

QID: 102 -
How many triangles are there in the given figure?

& o st 3 feert Foger ¥2

Options:
1)3

2) 4
3)5

4)6
Correct Answer: 5
Candidate Answer: 5
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 02, 30, etc., and ‘2’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “CAKE”

T Qe dhadl Th HEAT-HHE SRT GAT T, otar 5 fA@eut # @
T T & G mam §1 faweut # Gu av Sw-aep 3Rt & ar gt
gRT goffw e §, ofr &6 KU o1v oY aneggt # §1 e & FaEd IR
Ufh &1 FEAT 0 § 4 § IR IFFN A 5 F 91 3T IR A Th MR
P Ugel sad Ufh AR A FA FEEH FEIT GRT GRET ST FhaT o
3Gl & AT ‘D’ @Y 02, 30, 3G ERT GRAAT ST Fhl & AUl ‘2 & 00,
77, IME ERT ST S hal ©l W e & U WA # RU *eg
“CAKE” & foT Wefg 1 UgdeEar ¢

Matrix-I Matrix-ll
g gl
0|1(2|3([4 5|6|7([8]9
0|Z|C[D|G|X S5|FIR|O|T|W
1|G|A[(N|H|V 6| KIM|J|C|S
2|U|O[Y|K|T TP ZIY]|D
3|D|G|W|L[R 8|F|E|J|A|N
4|A|lE|(U]|C|K 9|lulwiQ|V|X

Options:
1) 01, 11, 23, 86

2) 11, 40, 45, 23
3) 43, 88, 12, 41

4) 68, 55, 67, 34
Correct Answer: 01, 11, 23, 86
Candidate Answer: 01, 11, 23, 86

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R At F ¥ 3@ 3T HglA F AT
orm & uy ampfa Bt &

T
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Options:
1)

2)

Y

3)

[ |o

N

4)

Correct Answer:

N

Candidate Answer: [ NOT ANSWERED ]

QID : 105 -
Which answer figure will complete the pattern in the
question figure?

dig O 3R FPA U FHla & uldww & @
HLN?

?
7

AN
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Options:

Correct Answer:

/0

Candidate Answer:

/0

QID : 106 -
If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg m SUUT F AB T@1 W @ AW, ar & T
IR AHAAT A F Bl O dpfa w gl Hr

e ufafasa aefre?
\I/E
% {7
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Options:
1)

Correct Answer:

7

Candidate Answer:

\I/

N

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & un apfaal A R@m 3gErR Fee @
FAlZeR Ded dUT Weld & dIg a8 FE 3T HHA
s g game

| | s
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Options:
1)

2)

3)

0o 0
o0<lo

4)

0o 0
o0<lo

Correct Answer:

0o 0
O o0
o0<lo

Candidate Answer:

0o 0
O O
o0<lo

QID : 108 - By interchanging which two signs the equation will be correct?
6+9+11-3x12=-29
et Y RIg=ll T 39 RER Teeled T THFOT TET 8T SIuam?

6+9+11-3%x12=-29
Options:

1) +and -

+dur -

2) x and +

X T +

3) +and +

+ dAr +

4) = and x

+ JUr x

Correct Answer: + and —
+dur -

Candidate Answer: [ NOT ANSWERED ]

QID:109-If3P4P2=12and 6 P3P 2 = 18, then

4P11P2=?
IE3P4P2=12TM6P3P2 =183, dr

4P11P2="?
Options:

1) 44

2) 24

3) 46

4) 22

Correct Answer: 44
Candidate Answer: 44
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Angle

2. Able

3. Ant

4. Amicable
5. Amend

TeFAaTEe Areal T QTeeehier # 37T aTel el & AR ford|

1. Angle

2. Able

3. Ant

4. Amicable
5. Amend

Options:
1) 25413

2) 24513
3) 25431

4) 24531
Correct Answer: 25413
Candidate Answer: 25413

QID : 111 - In the following question, select the missing humber from the given series.
30, 29, 27, 24,?
TerAfald weat & U a1v fashedl & § oo 37 AT HIioIv|

30, 29, 27, 24, ?
Options:

1)21

2)22

3)23

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ABC, EFG, 1JK, ?
TS JeTehat T a1 8, freet & v e ded §1 v 1w faewet 7 & 95 @ fawew giee, St sngwma O |

ABC, EFG, 1JK, ?

Options:
1) LMN

2) MNO
3) KL

4) MOP
Correct Answer: MNO
Candidate Answer: MNO

QID : 113 - In the following question, select the odd word from the given alternatives.

Tt weat # U ¢ fashoul & & fawar sg &1 giAv|
Options:

1) Steel

Eric

2) Aluminium

TegHITA

9
3) Bronze

drefer

4) Oxygen

sitFedieT

Correct Answer: Oxygen
3itereiaTe

Candidate Answer: Oxygen
it
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QID : 114 - In the following question, select the odd number pair from the given alternatives.

TF=Te e weat # U 91C fashout & & fawer dear go9d &1 v
Options:

1)13-172

2)9 -84

3)11-125

4) 16 — 259
Correct Answer: 11 — 125
Candidate Answer: 16 — 259

QID : 115 - In the following question, select the odd letters from the given alternatives.

TF=ATe e weat # U 91T fashoul & & fawer 37eRT I giav|

Options:
1) ONM

2) RQP
3) CBA

4) VTS
Correct Answer: VTS
Candidate Answer: VTS

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Mother, Grandmother, Females

aE ING AT S o v 91w qaif & ey & Faer an Fgy fFwaor e g

AT, &), AT

Options:
1)

00
®

3)

&

4

®

Correct Answer:

Candidate Answer:

O
O

O

Download More Paper$)From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 117 - In the following question, select the related word from the given alternatives.
Song : Singer : : Painting : ?
AT weat # 7T 10 fashoul & & Hefera esg &1 giav|

AT : IS : : RAFFaT: ?
Options:

1) Painter

[EEEDRS

2) Cobbler

A

3) Mason

e

4) Plumber

TeldTST

Correct Answer: Painter

IPEEES

Candidate Answer: Painter

IBEEES

QID : 118 - In the following question, select the related number from the given alternatives.
10:100::14:?

TrAfafed weat & v a1v fashedl & & Heiftid dear &1 giav

10:100::14:?

Options:

1) 197

2) 225

3) 196

4) 169
Correct Answer: 196
Candidate Answer: 196

QID : 119 - In the following question, select the related letters from the given alternatives.
MO:PR::SU:?

FrAfaf@d weat # U arv fashedt # @ Haiftra 3Rt &1 gfaw

MO:PR::SU:?

Options:

1) VY

2) VX

3) VW

4) WY
Correct Answer: VX
Candidate Answer: VX

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

SALUBRIOUS

Tt fashoul & & g5 oreg YA ST oT 37T 2reg; & 3R T TN 7eh AET =TT ST Hehell|
SALUBRIOUS

Options:

1) LIAR

2) BLUR

3) SURE

4) RAIL
Correct Answer: SURE
Candidate Answer: LIAR
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QID: 121 - X and Y starts from same point and walks 20 km in opposite directions to each other. X turns left and walks 15 km. Y turns left and walks 15 km. How
far (in km) are they from each other?

X AT U g g & Tefalr 3RET et § oar aledl it f&em & 20 .2, =rerct &1 X St 3R o 15 ol wrorar &1 Y arif 3% g 15 ool T &1 3 v gl
¥ faraett gt (Fral. ) w2

Options:

1) 50

2) 50v2

3) 40v2

4) 30V5
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 122 - If 4 years ago the ratio of the ages of P and Q was 5 : 6 and the sum of their ages at present is 52, then what is the ratio of their present ages?

e 4 ad g P YT Q Y TG T AT 5 1 6 UT TUT AT hT ATAA # 37 T AT 52 B, A SeTehl ATATA 1Y T 31T T 82
Options:

1)5:6

2)6:7

3)5:7

4)3:4
Correct Answer: 6 : 7
Candidate Answer: [ NOT ANSWERED ]

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some blue are black.
II. Some black are red.

Conclusions:
I. No blue is black.
II. Some black are blue.

A T 1T e A Fo FHU 3R 37% e 37 HUA W IR T fshy w10 §, gretifes 3008 Gty A1 aedt & eear of @ §1 T sy o 31k f
Fuifa a & e v il & e, e 1w et & 3R W) gfaawed &

FYe:
L. & ofrel el 8
I1. $& el A1 8|

sy

L. 1S el el 81 &1

I1. T &1 A1

Options:

1) Only conclusion (I) follows.

Fae forses (1) a8 &1

2) Only conclusion (II) follows.

Faer s (I1) TEr &

3) Both conclusion follow.

At & fasay T €

4) Neither conclusion (I) nor conclusion (II) follows.
7 ar oSy (1) o & s (1) T8 ¥

Correct Answer: Only conclusion (II) follows.

Faer sy (I1) TEr &1

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

o ar sy (1) 7 & s (11) e &1

QID : 124 - In a certain code language, "GAME" is written as "HCPI". How is "PLAY" written in that code language?

s faflise Fis s 7, "GAME" F "HCPI" f@r SiaT §1 37 15 8191 & "PLAY" &t fhg whR for@r siream?

Options:
1) QNDC

2) QNCC
3) OMDD

4) ONDC
Correct Answer: QNDC
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Candidate Answer: QNDC

QID : 125 - In a certain code language, "NIP" is written as "38" and "NIB" is written as "24". How is "HEX" written in that code language?

T faflise Fs s7wr 7, "NIP" 1 "38" TuT "NIB" I "24" fa@r S1aT §1 39 SIS 919 & "HEX" F¥ fhg yR for@r sreem?
Options:

1) 36

2) 35

3)37

4) 38
Correct Answer: 36
Candidate Answer: 37

QID: 126 - What is the value 35 - 15+ 3 x 7 + 4?

35-15+3X7 + 4 FT A FATE?

Options:

1) 14

2)6

3)9

4) 4

Correct Answer: 4
Candidate Answer: 4

QID : 127 - Which of the following number is divisible by 15?

Tfafla 3 & Filer € e 15 @ quia: faenford §2
Options:
1) 73246
2) 23450
3) 11115

4) 24095
Correct Answer: 11115
Candidate Answer: 11115

QID : 128 - What is the value [(2.4)3 + (0.8)3] + [(2.4)? + (0.8)? - (2.4) x (0.8)]?

[(2.4)° + 0.8)3] = [(2.4)% + (0.8)% — (2.4) x (0.8)] T HIT FT &?

Options:
1)4.2
2)3.2
3)1.6
4)2.2

Correct Answer: 3.2
Candidate Answer: [ NOT ANSWERED ]

QID : 129 - How many positive factors are there of 360?

360 & ey URICHS AUTES §?

Options:
1) 24

2) 28
3) 18

4) 30
Correct Answer: 24
Candidate Answer: [ NOT ANSWERED ]
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QID: 130 -
Which of the following statementis true?
. (42) =47
1. 4% > 48
g # @ ST IO 37 7 &2
. (42) =47
II. 43 > 48

Options:

1) Only I

Fal

2) Only II

Fhal 11

3) BothIand II

I 2T II &=t

4) Neither I nor II

FANIALI

Correct Answer: Both I and II

I g2 11 =t

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - How many multiple of 3 or 4 are there from 1 to 100?

19 100 o & HEdr F 3 qUT 4 & fahcat ot §?
Options:

1) 55

2)50

3) 58

4) 33
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 132 - A alone can do a work in 15 days. A is 20% less efficient than B. In how many days can B alone do the work?

A T FT T 31ehar 15 AT 7 X T FHAT §1 A, B 20% F97 FREFAS §| B el 36 F1 T fhctot [T 7 I T Fhell 87

Options:

1) 12

2) 18

3) 20

4) 24

Correct Answer: 12
Candidate Answer: 18

QID : 133 - Three taps A, B and C can fill a tank in 20, 30 and 36 hours respectively. If all the taps are opened together, then in how many hours will the tank be
filled?

e oTel A, B dUT C Tah Taht hl shAel: 20, 30 T 36 €¢ H X Tohd & | Afe Tt s7cil & v ary @rer fear S, d S fovdel ©¢ # - STwein?

Options:
1)6

2)9
3)12

4) 15
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

QID : 134 - The length of two parallel sides of a trapezium are 60 cm and 40 cm. If the area of the trapezium is 200 cm?, then what is the value of its height (in
cm)?

T THEFS T & TATH N3l Y Tars 60 {38, FoT 40 A §| AR Tovela F7 avAwer 200 A.A2 §, A 35T Fr$ A (A, 7F) F=w 2

Options:
1)6
2)8
3)3
4)4
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Candidate Answer: [ NOT ANSWERED ]

QID : 135 - If the difference between discount of 50% and two successive discounts of 20% on a certain bill is Rs 42, then what is the amount (in Rs) of the bill?

AT vk T 3 50% AT 20% HY &Y FANTT Tl & €I 42 F F1 AT 37T &, A fover v afy (3 ) foraah &2

Options:
1) 300
2) 750
3) 600
4) 800

Correct Answer: 300
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - A merchant purchases a watch for Rs 560 and fixes its marked price in such a way that after allowing a discount of 20%, he earns a profit of 40%.
What is the marked price (in Rs) of the watch?

T SATARY 560 & 3 T 937 TAGAT ¢ AT 38e 3o e 50 e [uiRd #°2dr & [ 20% T 9 & & Teard o7 38 40% T o187 9Ted 81l & | T3 &1 3Hhd 7o (¥
;) FTE?

Options:
1) 600
2) 980
3) 660
4) 750

Correct Answer: 980
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Incomes of X and Y are in the ratio 3 : 2. The ratio of their expenditures is 7 : 3. If both save Rs 800 at the end of the month, then what is the income
(in Rs) of X?
X AT Y 1 3 3 1 2 % U1 # §| 3o1sh o7 7 1 3 & 30]UId # &1 IS A6 & 31 7 1t 800 T & FaIdd ol &, al X & 31 (¥ H) 741 §?

Options:
1) 1280

2) 3000
3) 2300

4) 1920
Correct Answer: 1920
Candidate Answer: [ NOT ANSWERED ]

QID:138-IfM:N=3:5andM: 0 =3:7, then whatis (M + N) : (N + 0)?

IEM:N=3:5aaTM:0=3:78 A (M+N):(N+O)Fag?

Options:

1)5:4

2)2:3

3)6:5

4)4:5

Correct Answer: 2 : 3
Candidate Answer: 4 : 5

QID : 139 - The average of N numbers is 10. If a number 6 is removed, then average becomes 12. What is the value of N?

N T3t 1 3iaa 10 1 I v & 6 it geram S, ar 3ied 12 81 Srar €1 N 7 A1 47 82

Options:
1)5

2) 4
3)6

4)3
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 140 - A man sold 250 chairs and had a gain equal to selling price of 50 chairs. What is his profit percentage?

U cafda 250 FHET 1 e 50 FEA & s Hoa 3 T A FATAT &1 3HHT oot gfcrerd 77 82

Options:
1) 20

2) 25
3) 10

4) 15
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Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 141 - On selling an article for Rs 195, a shopkeeper losses 35%. At what price (in Rs) he should sell the article in order to earn a profit of 30%?

Teh aE] I 195 T H 901 TR Toh GhTelaR Hl 35% 1 gIfel g1l 1 30% oS FAlat & fIU 38 38 g &1 fhelel (¢ /) F S=rawr =nfgw?

Options:
1) 95

2) 100
3) 390

4) 280
Correct Answer: 390
Candidate Answer: [ NOT ANSWERED ]

QID : 142 - 1600 is first decreased by 25% and then it is increased by 25%. What is the final value?

1600 I Ugel 25% & TETIT 3T 9207 R 38 25% A serar 37| 3ifas A Fa7 2

Options:
1) 1600
2) 1450
3) 1500
4) 1550

Correct Answer: 1500
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - Total cost of 40 chairs is Rs 1600. If cost of each chair increases by 20% and number of chairs decrease by 10%, then what will be the total cost (in
Rs) of chairs?

40 HTEGT T Hof FeT 1600 T & Ffe Tedeh Fl T Hed 20% W o7 feram SRy T HREAT 6 FEAT 10% A HA 81 ST, o SR HT Fel Hod (T H) FA1 gam?

Options:
1) 2400

2) 1728
3) 1484

4) 1865
Correct Answer: 1728
Candidate Answer: 1728

QID : 144 - A car travels at a speed of 50 m/sec. for 7 hours. What is the distance (in km) travelled by the car?

T ST 50 FY/AHUS A AfT ¥ 7 G0 T Toldll § | MY GaRT a2 1 378 gfr (.7, #) ar=m g2

Options:
1) 1250

2) 1260
3) 1300

4) 1200
Correct Answer: 1260
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - A train running with a speed of 6 km/hr, crosses a telephone pole. If the length of train is 720 meters, then what is the time taken (in seconds) by the
train to cross the pole?

e 6 T, /8eT T 1l § Tolol aTell YGRS, Teh Sellhie o TS &l IR &l ¢l A YeemeY T aearg 720 #HieX §, dF TenEl aRT o &l IR el # fordr 3 907
(Vs H) e &7

Options:
1) 430

2) 450
3) 432

4) 445
Correct Answer: 432
Candidate Answer: [ NOT ANSWERED ]

QID : 146 - What is the compound interest (in Rs) on a sum of Rs 15000 for 2 years at the rate of 10% per annum compounded annually?

15000 & & HelereT T 10% 1 a1f¥er e o) a1f¥er Faiieter & 2 anlt &t =gl saret (3 #) a1 82
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Options:
1) 3050

2) 3150
3) 3000

4) 7500
Correct Answer: 3150
Candidate Answer: [ NOT ANSWERED ]

QID: 147 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

A= T v guz R & 3§ 2011 & 2016 I 2
Fafaat X gar Y &t [ (@@t J) w7 garar a1
2l

B Company X /&9t X O Company Y /&TeT Y

120 - 112
100
74 100 gg w9 190
Q. 80 80 80 80
= E i 60
£ 60
- = 60 - 56
Q
= f, 40
72]
20 -
0 B
(9] [yp] <t wn [{=]
o b o o o b=
N N N N N N
Year / a§

In how many years was the sale of company X more than that of company Y?

Torctet a3 &ustt X T foehT astr Y r foeht & 3ifere ofi?

Options:
1)2

2)5
3)1

4)3
Correct Answer: 2
Candidate Answer: 2
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QID: 148 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

#=r fw a7 gus =g & 3§ 2011 & 2016 TF 2
Fafaat X Jur Y $r Rhr (@@t 3) & gavar 1w

gl
B Company X /&9ir X 0O Company Y /&T=T Y
120 - 112
100
@4 100 1 88 96 100
Q. 80 80 80 80
= E i 60 60
w = 60 - 56
-]
© g 40 -
»
20 -
0 J
- N [yp] o wn [{=]
o o o o b= o
N N N N N N
Year / a§

What was the percentage change in the sale of company X from year 2011 to 2015?

ay¥ 2011 & 2015 A, HU=IT X T {501 7 wfaera aRad=r a7 ar?

Options:
1) 30

2) 80
3)50

4) 60
Correct Answer: 30
Candidate Answer: 60
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QID: 149 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

#=r fw a7 gus =g & 3§ 2011 & 2016 TF 2
Fafaat X Jur Y $r Rhr (@@t 3) & gavar 1w

gl
B Company X /&9ir X 0O Company Y /&T=T Y
120 - 112
100
@4 100 1 88 96 100
Q. 80 80 80 80
= E i 60 60
w = 60 - 56
-]
© g 40 -
»
20 -
0 J
- N [yp] o wn [{=]
o o o o b= o
N N N N N N
Year / a§

What was the average sale (in lacs) of company Y from 2012 to 2016?

¥ 2012 & 2016 T, HUAT Y H i fashr (erat #7) Far o4

Options:
1) 104

2) 85.6
3) 140

4) 170.4
Correct Answer: 85.6
Candidate Answer: 85.6
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QID : 150 -
The bar chartgiven below shows the sales (in lacs) of
2 companies X and Y from year 2011 to 2016.

#=r fw a7 gus =g & 3§ 2011 & 2016 TF 2
Fufaar X qur Y $ir [ (@@t F) v gerar T3
gl

B Company X /&9ir X 0O Company Y /&T=T Y
120 - 112
100
@4 100 1 88 pggo6 100
Q. 80 80 80 80
= E 80 - "
= 60
o ~— 60 - 56
-]
© E 40 -
7
20 -
0 J
- N (3] o e (=]
o o o o o o
N N N N N N
Year / 9%

The sale of company Y in 2015 is what percent of the sale of company X in 2011?

ay¥ 2015 & Hu=T Y Fr f9ehr a§ 2011 & Sueit X Fr f9ehr 1 fovder ufaera 872

Options:
1) 80

2) 100
3) 250

4) 300
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

How did they become (1)/ the most successful investors (2)/ America have ever seen. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He found comfort in fantasy and (1)/ science-fiction books which inspiring (2)/ him to leave a legacy in the world. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Nobody will help you but
Options:
1) my

2)1
3) mine

4) their
Correct Answer: I
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

One must not praise self.
Options:
1) his

2) her
3) ours

4) one
Correct Answer: one
Candidate Answer: [ NOT ANSWERED ]

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Forbid
Options:
1) Include
2) Standout
3) Preclude

4) Welcome
Correct Answer: Preclude
Candidate Answer: Preclude

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Haggard
Options:

1) Hard working
2) Plump

3) Healthy

4) Exhausted
Correct Answer: Exhausted
Candidate Answer: [ NOT ANSWERED ]

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Insipid
Options:
1) Innocuous

2) Original
3) Exciting

4) Jovial
Correct Answer: Innocuous
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Lustre
Options:
1) Gloss
2) Shine
3) Matte
4) Dazzle

Correct Answer: Matte
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Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Victor

Options:

1) Champ

2) Hero

3) King

4) Loser
Correct Answer: Loser
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Darken

Options:

1) Deepen

2) Dim

3) Eclipse

4) Illuminated
Correct Answer: Illuminated
Candidate Answer: [ NOT ANSWERED ]

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Be under somebody’s thumb

Options:

1) To be about from duty without permission

2) Be controlled by someone completely

3) A deep thinker

4) To destroy in the very beginning
Correct Answer: Be controlled by someone completely
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Get wind of something

Options:

1) Expect too much of life

2) Hear about something

3) Refusing to shoot

4) A false intention
Correct Answer: Hear about something
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - Improve the bracketed part of the sentence.

The consequences of her removal (inside the) meeting of the general counsel of the party will be immediate.
Options:

1) on the

2) around the

3) at the

4) No improvement
Correct Answer: at the
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - Improve the bracketed part of the sentence.

While there are (much) in the party, including ministers, who still sympathize with her.
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Options:
1) many

2) most
3) less

4) No improvement
Correct Answer: many
Candidate Answer: [ NOT ANSWERED ]

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A fear of closed places.
Options:
1) Homophobia

2) Claustrophobia
3) Aerophobia

4) Monophobia
Correct Answer: Claustrophobia
Candidate Answer: [ NOT ANSWERED ]

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A list of things to be discussed at a meeting.
Options:
1) Meetings

2) Notice
3) Notion

4) Agenda
Correct Answer: Agenda
Candidate Answer: [ NOT ANSWERED ]

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Guidanse

2) Guidence
3) Guidance

4) Giudance
Correct Answer: Guidance
Candidate Answer: [ NOT ANSWERED ]

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Encycleopodia

2) Encyclopedea

3) Encyclopedia

4) Encyclopidea

Correct Answer: Encyclopedia

Candidate Answer: [ NOT ANSWERED ]

QID : 169 - Rearrange the parts of the sentence in correct order.

There was a

P: the river, from one
Q: thick rope tied across
R: bank to the another
Options:

1) PQR

2) RQP

3) RPQ

4) QPR

Correct Answer: QPR
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - Rearrange the parts of the sentence in correct order.
I knew that
P: challenge with courage

Q: result of facing a
R: this confidence was a
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R
2) RPQ
3) QPR
4) RQP
Correct Answer: RQP
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

the fact of in diversity
Options:
1) unity

2) adversity
3) relativity

4) creativity
Correct Answer: unity
Candidate Answer: unity

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

for many years without problem
Options:
1) most

2) any
3) more

4) none
Correct Answer: any
Candidate Answer: any

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

ancient culture and p
Options:
1) festival

2) rites
3) tradition

4) themes
Correct Answer: tradition
Candidate Answer: festival

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

all have characteristic
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Options:
1) dislike

2) unlike
3) nominal

4) similar
Correct Answer: similar
Candidate Answer: nominal

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India is a country proving the fact of in diversity. People of various religions and castes have managed to live together for many years without

problem. India is decorated by the high mountains, valleys, oceans, famous rivers, streams, forests, deserts, ancient culture and , and most importantly unity
in diversity. People here belong to their own race, religion and language however they all have characteristic of humanity which make them able to
together.

able to together.
Options:
1) die

2) drink
3) sleep

4) live
Correct Answer: live
Candidate Answer: live

QID : 176 - In which sector the government owns most of the assets and provides all the services?

g 87 7 TR F1 31T Fufcaar § 3R Teft Yo ver avar 82
Options:

1) Public

STl

2) Private

GEIl

3) Both public & private
Hdotfares aur fash gt
4) None of these

ST A S G

Correct Answer: Public
STl

Candidate Answer: [ NOT ANSWERED ]

QID : 177 - What are the loans from informal lenders including moneylenders, traders, employers, relatives and friends etc is called?

AT SURSTAT3T & FoT [T die-SaAgR, cararaT, ierar, Redert aur aedt 3nfe & =or anfde &, F31 Fgela &2
Options:

1) Formal sector loans

st & For

2) Informal sector loans

3t &7 FoT

3) General loans

HTHT FHOT

4) Commercial loans

aifofsae T

Correct Answer: Informal sector loans

AT 817 FoT
Candidate Answer: [ NOT ANSWERED ]

QID: 178 - is a sudden overthrow of a government illegally.

NPT T A AT TFHR FH1 3@15 Sl g1
Options:

1) Strike

REGIGS

2) Veto

drer

3) Coup

dEAIee

4) Trade union

IR 69
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Correct Answer: Coup
d&divelc
Candidate Answer: [ NOT ANSWERED ]

QID : 179 - Who among the following is the most important political institution in our country?

frtfaf@a & & e AR &2 7 T Ageaqul Uailifas dear §?
Options:
1) President

ISgafer

2) Governer

TR

3) Chief Justice of India
IR o T wATTeieT

4) Governor of state

TS & TogdTel

Correct Answer: Governer

TR
Candidate Answer: [ NOT ANSWERED ]

QID : 180 - Who was the son of Chandragupta Maurya?

Hegaed HiF HT g He A1?
Options:

1) Bindusara

2) Ashoka

372N

3) Bimbisara

ICCE3IRS

4) Chandragupta-I

ToGed TIH

Correct Answer: Bindusara

figam

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Whom did Babur defeated at the Battle of Khanwa of 1527?

1527 & WieTdl & g H STeX o fohdY gam 417
Options:

1) Ibrahim Lodi

SSTTEH oiér

2) Rana Sanga

JoT Hiew

3) Sher Khan

R @t

4) Mirza Hakim

AT gha

Correct Answer: Rana Sanga

T e

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - Which is the third largest continent of the world?

aRT T AERT FIH ST ATIEAT T AT 672
Options:

1) Europe

Rk

2) North America

Sl 3R

3) South America

Efarol 3mier

4) Australia

siteeforr

Correct Answer: North America

Sl 3AReT
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Which is the only ocean named after a country?

R &er & AT YR TW@T IAT THATT FHGIANR hisT AT §?
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Options:

1) Atlantic Ocean

Jedifesd AFRR

2) Arctic Ocean

JThieH AFTIR

3) Pacific Ocean

TRITT FGRATIR

4) Indian Ocean

feee AR

Correct Answer: Indian Ocean
foee HgrEER

Candidate Answer: Indian Ocean
fBee AR

QID : 184 - Number of RBC in an adult man per mm 3 of blood is .

S AT F I A A 3 d A d. frdger

Options:
1) 500

2) 5000

3) 500000
4) 5000000

Correct Answer: 5000000
Candidate Answer: 500000

QID : 185 - If there were no sun rays reaching the earth, human should suffer from the deficiency of

Ife T 1 A RO gt IR G agch , o FIsT A Bl @ RS & S &
Options:

1) Mineral

gfest

2) Fat

qdr

3) Vitamin D

faarfae 3

4) Vitamin E

eI A E

Correct Answer: Vitamin D

[EEICCE]

Candidate Answer: Vitamin D
ferfae &

QID : 186 - If all the tissues except xylem of main stem of a plant are removed in a ring

T vk A & HET T & SFAH H SIsh Tl S Ueh S A ger v A, ar [
Options:

1) The root dies first

5 Ugl X AT &

2) The leaves dies first

gfeerar gger AT el &

3) The root and leaves will die at the same time
S8 AT Yfcadl Ueh & 7T & # SIen

4) Neither the leaves nor the roots will die

o ar afeaar 7 & 18 Al

Correct Answer: The root dies first

TS Yge) FX ST

Candidate Answer: [ NOT ANSWERED ]

QID : 187 - An echo will be heard if the minimum distance between the source of sound and the obstacle is

TS [T A GoTTs &2 ST JATATST & Tl T ey & S i g B 81
Options:

1)1m

1

2) 10 m

10 #T.

3)15m

15 7.

4)17 m

17 7.

Correct Answer: 17 m
17 #.
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Candidate Answer: [ NOT ANSWERED ]

QID : 188 - Which of the following class of forces is different from others?

Pefaf@d & @ go &1 Sl a1 997 37 F 3re79T 82

Options:

1) Pulling of a wooden block

T SThal T Selleh WieaaT

2) Stretching of a coiled spring

Teh Athe, T I Ceall

3) Pushing a wall

T IR ST el Gl

4) Electrical force

ey ser

Correct Answer: Electrical force

ey aor

Candidate Answer: [ NOT ANSWERED ]
QID : 189 - Cut, Copy and Paste option are found in menu.
&, FHIAT FAT 9FT ey Fe 7 e €
Options:

1) Help

g

2) View

Eq\

3) Insert

gac

4) Edit

wdic

Correct Answer: Edit

e

Candidate Answer: View

EZ‘I'\

QID : 190 - When marble chips are treated with HCL, which of the following gas is liberated?

S TR e vaEive & @y ufasR fRar Sar 8, O Reafaf@a 3 @« ar g Reeem?
Options:

1) CO,

2) 0,

3) CO

4) CO3

Correct Answer: CO;,
Candidate Answer: [ NOT ANSWERED ]

QID : 191 - The common name of sodium bicarbonate is

AfETH STEhralale Sl AT AT gl
Options:

1) quick lime

R g

2) baking powder

CIETISIEET

3) baking soda

CIETIR:IG

4) slaked lime

I ol

Correct Answer: baking soda

Sfhar @ver

Candidate Answer: [ NOT ANSWERED ]

QID : 192 - The symbiotic relation between algae and is lichen.

darer qar F T TEoid T ASH B
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Opti H
1;);:crt‘:ria
Sy
2) Virus
farsoy
3) Fungi
Hddh
4) Protozoa
rerSt3m
Correct Answer: Fungi
hdsh
Candidate Answer: Virus

fwror

QID : 193 - What is the main mantra of Pradhan Mantri Ujjwala Scheme?

TETAHA Sooaell AT T &I HT 7 872

Options:

1) Swacch Indhan, Behtar Jeevan — Mahilaon ko mila samman
TITE $U, S8} iaeT — AT T fBar TFA=T

2) Maa, Mati, Manush

i, AL, AT

3) Sabka Sath Sabka Vikas

HEHT Y T [

4) Janani Suraksha

STeeiT e

Correct Answer: Swacch Indhan, Behtar Jeevan — Mahilaon ko mila samman
TITS SU, SgX SidsT — ARl & [&Her &A=

Candidate Answer: Sabka Sath Sabka Vikas

HHT |TY FehT

QID : 194 - Karl Landsteiner is famous for the discovery of .

FTeT AFEEAT # @ F fow uidg g
Options:
1) Blood Groups
IFd §Hg
2) Barometer
-]
3) Rubber
&
4) Polio Vaccine
aiferaT s Erer
Correct Answer: Blood Groups
IFd Hg
Candidate Answer: [ NOT ANSWERED ]

QID : 195 - "Upper-cut" is associated mainly with which sports?

"I FT" LT T F fFE T § A 82
Options:

1) Badminton

CEIGRo)

2) Hockey

g

3) Boxing

LEETic)

4) Chess

ST

Correct Answer: Boxing
HFchaTolr

)

Candidate Answer: [ NOT ANSWERED ]

QID : 196 - Which among the following is a feature of the Dravidian style of temple architecture?

et & & i &1 gfag Aol & AT arqgfied i faavar g2
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Options:

l)pMinaret

HaR

2) Shikhara

IRiECry

3) Gopuram

MR

K}

4) All options are correct
Tt fasheT T &

Correct Answer: All options are correct

ol faereT TEr &
Candidate Answer: [ NOT ANSWERED ]

QID : 197 - Who received the International Maritime Organization Award for exceptional bravery at sea?

TG H IFAURYT FEIGY & TIT IeRTSERT HHET VTS &l GREHR oot oreet fopar?
Options:

1) Akshay Mukul

3T AT

2) Radhika Menon

T Aeled

3) Malini Subramaniam

anfoel gerAvIH

4) Peggy Whitson

U freae

Correct Answer: Radhika Menon
T Aefed

Candidate Answer: Peggy Whitson
Yaft egreweT

QID : 198 - Who is the author of book named “An Area of darkness"?

"ol TRAT HIW ST ATHR T o oG hieT &2
Options:

1) Khushwant Singh

urEd e

2) V. S. Naipaul

d, T, ATgate

3) Mulk Raj Anand

Howh TS 3Hleie;

4) Salim Ali

T 3Telr

Correct Answer: V. S. Naipaul
a1, Ta. AT

Candidate Answer: [ NOT ANSWERED ]

QID : 199 - Which is the first non-member of the non-proliferation treaty (NPT) to have signed civilian nuclear deal with Japan?

ST & 1Y 38+ WATY] TR T EEAER el alell IR-JER HE (T, 9.8 3T Joe IR Feey Hi a1 g?
Options:

1) India

AT

2) Nepal

AqTer

3) Pakistan

qrferEds

4) Indonesia

ggfaar

Correct Answer: India
HRA

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Dispute over sharing of Teesta river water is in between India and

AT ALY & ITeY & AT R faare AR aur FaTE
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Options:
1)pNepaI
AqTer
2) China
e
3) Bangladesh
SiTenger
4) Pakistan
qrfeRedret

Correct Answer: Bangladesh
STenger
Candidate Answer: [ NOT ANSWERED ]
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